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Instructions : .
1)  This question paper contains FIVE sections.
2)  Each section carries Twenty (20) marks.
3) All questions are compulsory.

4) Marks are indicated at the right side of the question paper.

faumr-a

B AR vameT AT ged (RAfy ga: ) ; [8]
A2 2u8a el Adaue 52U (slduael) :

T Prefataa wel @ srgars witie (FE ) -

R Translate the following verses in English (Any Two) :
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TROTATARETOTRTAR |
st et <fa weafa
wfa 9fg e vae famer I
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22) STIYH: HL GRYE : IHIq?
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() =mUST=
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23) IUE & YI=Sa?
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faumr - c
B orEieT TEEUE UfSar WEhd AT STNiT SR T foed
3 2ua tevigA aidlA g wadl- g qrgdHl quil :
frafafa uiedT ®1 TgHT WEHd UvHl & SO GEhd Wt ¥
forfa :
Read the following passage and answer the Sanskrit questions
in Sanskrit language :

25) TSI THE JIHHI e AferR: afrs T | T8 N4 HreEE:
G : SeATTcHehl: STTHRUT YeRRUT {01 €401 0] = FA1: fo: qeifershr:
ST | TS SYTeerd : 378 afores a1 qafersh: T4 weeiafd | Jafa:
TR : e dl: J9afd |
(A) Tl TIHHEI h: FHITG:?

(B) aftrst: T4l Shiged: uferel: TE?
(C) aftrep 1: T4 werafa?
(D) Tufa: ar: qafere: Teien fh wafa?
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B o faar o

21 [Qeel1R 52 :
aref fae wifST
Expand the idea :

38) e dpueTsisi Shemnfirafe &
" el fede A I T ARG H I
79T / a4l / OR
Fyeh: agarad fredt wfneersen
& defHen: wy: ¥ 3fa fagan:

B e R i g

DA 20004 vl ou yal :
frrefafen faa wr =t gfd Fifag
Fill in the blanks :
39) AEiR -~ Ta0g | (T, 9)
40) sgfERL —- " TH | (3T, )
41) Ifa siwiforafg —————-- | (3T, wiwifor)
B EifarEar ey aread
A2 2uden 2aisigA Al :
frAfaten verewl wt fe
Match the following verses :
42) I FHTSHA! T — T FEfH gy 3@ T |
43) Trem= foraq STy — IS e TR |
44) werdtvEfd = — IY FHAG: |
45) u=: § sisfy faedt — TFT: YETE 99|
faur-E

B Rt fewuf foee (watya g )

Rl -y quil (sldua i) :

ufreraTeres fruuft fafem (€ <) -
Werite introductory notes (Any Two) :
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47) TgaR
48) HDhHichHH
B e §ed
AU yHAndl
Y @i ST T ¢

Explain the maxim :

49) sFffrETE: (2]

. AT / 2194l / OR
TSI

50) ‘o reetell HUARA &L U AU D, % Al A ol FaReld (1]
5101 el MU €97 - VAL GLL6ld AHAAAL $¥L =UA GUHLR(L S ?
“for wrem | He g B © o1 e 39 §:@ fraroned e €
Tl § |'— I8 91 G55 F g i 91 = s €2
‘Anything that causes pain may prove to be the remedy of that pain.’

- Which maxim explains this? -
(A) TEEgE=E:

(B) §-99=mM:

(C) IAUR-AIRAE:

(D) wUCHiaEA:

51) ‘orul SIS WotdL % L €ld, Al U6 g Ul 20d, dl d arg [1]
(Bt Gualofl 6l 28 697 - sUL 1Y 2L G101 o YA 53D ?
"STET IS T € A B 96T afs FS ugarE W €, a8 fae st
T SR | - S 1 =1 39 927 1 gied w1 82
‘If anything is provided to an undeserving person it remains use-
less.” - Which maxim indicates this?

(A) TREgE=M™:
(B) ISHY=IE:
(©) Swgfe=m:

(D) STEEA=A:
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